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Borrowing Tens, Hundreds and Thousands

Th HT O
6 13 0:4-4=0 T.6-3=2 \ A
7364 Aol — %
_ In 7264, there are 7 thousands. X
253 4 Borrow 1 thousand (=10 hundreds).
1_ 8 304 ThenTh: 6-5 H:13-5
Th HTO Th HTO
W O: We need to borrow 1 ten. ¥ 52 ;9_, 1
FH0 01 But5001=5000+0+0 +1 5001
So regroup. First borrow
=2175 1 thouzand (10 hundreds). =217
ThenTh: 4 - 2 H: 10 -1 & 2 0
2
‘Zgn(,’ ' _EXerclse 6¢.__ 7
Subtract.
1.(a -
@ wsaas, ® 4459 ©f 35353
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o 366 | 19 17
(e) 2756 (f) 546 2 (8 4235
=186 2 =-3596 c2-7 4 7
089y 1364 EX
(i) 9123 () 7056 k) 400 4
=03 Jb. - 5147 -2569
37417 19 09 LVE=

Borrow 1 hundred (10 tens),
ThenH: 9-1 T:10-7

Borrow 1 ten (10 ones).
ThenT: 2-7 0:11-5
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Nk Lo fugh <2,

W there were 35 Alsatians
“of pugs was 18 Jegg. How
were there at the show?

<ol - L), jﬁa'rc('rfoﬂam ag¢: 61V

Li a’ (i 1 ’
1sa’s grandfather is 61 years old. Hest aund 1099 H,@gj’(},d&f]hf{@(

Her aunt is 28 years younger than

him. How old is her aunt? | ;éfbgh A o

| ‘AQW[ ot qund - Glapasih -2 4407
L3308 s

Sl Tadad cus &/j[ﬂf-ﬁaan‘q - 935
), : ,Za'c cupA- 184
. At the end of the party, Al Hsend ol A Jw)u(j

re left. How many cups of Ty aUJJ-k P\o.\{c = qQS(u!\v) -\pacubs
d the guests have? R Th + 736euA Ao

e 7 ———

dered 925 cups of ice cream EA%

cSCEO[ & Eﬂﬁ}‘ Am el dvacn ce{ 283297
A poultry farm sold 5392 eggsina week. 44 Aold 1587 Jeas g4 ALk
It sold 1587 less eggs the next week.  Ji; yyyl rieel
~ How many eggs did it sell the second Ao L Actome
week? Aell

&JG_&{Q i /L
= § 49 2—4587%4_
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< pxerclse 64

| <14
A ;
. -en L S Lf
[. 350 children were going to Kerala. 135 Chl]td;in. o= %‘%6 ]
travelled by bus, 27 by car, and the rest took a tre w B = il By
How many travelled by train? 162 18

186 children travelled by t..

dlr

Joe | Ann
( 1 ‘ (
. To decorate their Christmas trees, Joe bought 25 ; 26 | | < 4
stars and 55 bulbs, and Ann bought 24 stars and | T 55 | LT 65
65 bulbs. Who bought more decoration items? J 80 o & 9

Ann bought more,

. A wildlife park in India had 370 elephants. 25 of them 370 3ug
were sent to Nepal and 7 were sent to Bangladesh. 45 | | 1
How many elephants were left in the park? W T P T

- dhs 234
} 339 wwMihﬂ&ha} ;
On 1 May, there were 1275 tourists in Mumbai. On ﬁQ‘ 75/ | 0‘2,268
2 May, 983 more tourists came in, and 1163 left for Goa. 1083 1182
How many tourists were there in Mumbai on 2 May?
EVEY 1008
\. /\ f A 3
1695 A6 tisis wesu
Do these sums in your notebook. Hod Ln ¢ dthot Gngh 4

Scanned with CamScanner



o8 W A% |'$
T oIz
Asfa) Su}um.*fxbw\)s fok 68U Accs. __«.f’j
Coached e » 128 b
__.Nan._ At_toachia a0 - _g,qwaﬁ_.l.»ﬂﬂ&aﬂ -
- - tmmee_é\_.iaém%
_ Y érﬂf "“
.. Y === ’agg __‘\”
.. } 496 Lyl I
i _LL Jﬂ: 28 AJ‘UJP)-LJ;\ Jmn__a A[‘l.anﬂ -ﬂ\m\ ._,
S )Hm &Amrp a1 W Z;M (Son A?éllolﬁ): _,,
- Ao o Mo Achoal Dove o 1so0 Auclinds = 98¢ sbelidy.
- 2 11 suckils g 1
1Sco
—— i
j 1.2 1Y
@‘ Numhnsf ot lMﬁa N A A‘[ﬂq{lj’hﬂ b BT2S
L UMLM-I /}'f j ] 2 026 SR
J\lu‘mlmsw‘ ol 'Alﬂ'éja wha ek MjLz (\87.,25‘—;26.9?1\ .,!IML‘gQa
B =~ £067 pudble A
- Ares |
L~ (S € "j
i (1 ) 15 XX}
L — 500
= ’25 o N
SR— /ii1ae iy
el 324
- 449
9,

Scanned with CamScanner



—————
—

Lo&(/_._%\\

T e —— - : .

oo
—
—~{re——r]
X

e———

=

——

Scanned with CamScanner



Scanned with CamScanner

o Q0 |
r~ ﬁ,..m....ut i i o 2\2 N O~
TollTolR ) < @ n | |

| | D 10 o LIS
To) 5 o\ 00| ™~
— S~
9, = | _
A~ .. N
) <
— SR S ..... S S— c(
® NG S O »
N e xS ™ o
. .I.h_, i N .
< M_,n/ J, \o S RCIRGE N O\
i el O | T O o
= —~ <+ | — O \©
o |V 0 D0
| |
- OXR — RiM - —
o~ ..Ilo ~N - F\.V 1,..|L\ :lU.n\u
o —— X .Q
i i
- s <+ NlQ 935
523 ool
wy oG -+ o0 O e ~
S Lot ey N | |
= — N l.. .
¥ .
i [ o (emn
- S
- r
1 0| Sgwfo
h N st O N~
¥ .1.| ToT8 SN & |y oS O Q
£ o < o0 o Y o ’m o 6 Q
p— _ — In 4& _
| | I I
= o = )
—— S S S
i er




